
 
Tel: 0121 326 9035 – option 1 

 

 
Miscellaneous  

Parts Catalogue 2024 

Taylor Engineering & Fabrications Ltd 

Unit D, St Clements Road, Nechells, Birmingham, B7 5AF 

Tel: 0121 326 9035 – option 1 for refuse parts 

Precision Engineering and Coded Welding 

Suppliers of parts for refuse vehicles and bin lifting equipment 

www.taylorengineeringltd.co.uk 

  

http://www.taylorengineeringltd.co.uk/


 
Tel: 0121 326 9035 – option 1 

Filters 

 

TEF5011   Link tip main filter 

 

TEF5011/1   ‘O’ ring kit for TEF5011 

 

Switches and Electrical 
 

TEL2001 Stop button assembly near side/ off side   

 

TEL2002 Knob switch head  

 

TEL2003 Push button (black)  



 
Tel: 0121 326 9035 – option 1 

 

TEL2004 Push button (dark blue) 

 

TEL2005 Push button (light blue) 

 

TEL2006 Contact N/O  

 

TEL2007 Contact  

 

TEL2008 Contact N/O N/C  

 

TEL2009 Lamp green LED P/B Stn  



 
Tel: 0121 326 9035 – option 1 

 

TEL2009/1 Red lens for TEL2009  

 

TEL2009/2 Amber lens for TEL2009 

 

TEL2010 Push button (green) 

 

TEL2011 2-position contact assembly  

 

TEL2012 Push button (grey)  

 

TEL2013 Push button (yellow)  



 
Tel: 0121 326 9035 – option 1 

 

TEL2016/1 Box only for stop assy’s 

 

TEL2020 Proximity switch   

 

TEL2035 Contact P/B N/O N/O  

 

TEL2036 Contact N/C  

 

TEL2037 Contact block  

 

TEL2038 Contact 3-position  



 
Tel: 0121 326 9035 – option 1 

 

TEL2040 Contact block P/B N/C N/C  

 

TEL2041 3-Positon contact spring rtn to centre  

 

TEL2042 Contact block 2-layers  

 

TEL2043 Push button red 40mm dia  

 

TEL2046 
Prox switch PNP N/C 
Quickcova arms 
C (T127643) 

 

TEL2047 
Prox switch 30mm  
PNP N/O N/C  



 
Tel: 0121 326 9035 – option 1 

 

TEL2049 Joystick assembly 3-pos spring rtn  

 

TEL2050 
Warning lamp ass'y (white)  
24v LED  

 

TEL2051 Lens clear (white) 

 

TEL2053 Finger guard P/B 

 

TEL2054 Switch  

 

Tel2054 
/1 

Switch illuminated (range) P/B Miscellaneous 



 
Tel: 0121 326 9035 – option 1 

 

TEL2060 Prox switch, 30mm dia, PNP, N/O  

 

TEL2069 Proximity Switch, 18mm dia, PNP 

 

TEL2070 Proximity Switch, PNP, N/C  

 

TEL2073 
Proximity Switch, 12mm, 45mm long, TERB 
15804 

 

TEL2077 Coil directional control valve  

 

TEL2083 4-hole box only 



 
Tel: 0121 326 9035 – option 1 

 

TEL2084 5-hole box only 

 

TEL2085 6-hole box only  

 

TEL2086 Contact N/O   

 

TEL2087 Contact N/C   

 

TEL2089 Stop Button (red) 70mm dia  

 

TEL2092 Stop box only  



 
Tel: 0121 326 9035 – option 1 

 

TEL2093 Stop knob only 40mm dia 

 

TEL2095   
Metal box 
(T1001-2)   

 

TEL2095/1 Metal box 1 hole deep 

 

TEL2096 Push button (red)  

 

TEL2097 Push button (yellow)  

 

TEL2098 Push Button (black)  



 
Tel: 0121 326 9035 – option 1 

 

TEL2099 
Prox switch comes with loom Swing link 
blade/slide 

 

TEL2100 Base plate  

 

TEL2101 Stop knob 

 

TEL2102 Contact N/C 

 

TEL2103 Contact N/O  

 

TEL2104 Maclift joystick skip in cab box 



 
Tel: 0121 326 9035 – option 1 

 

TEL2105 Blanking plug 

 

TEL2106 Cover for push button (clear)  

 

TEL2107 Twist knob (return)  

 

TEL2108 Twist knob (stay) 

 

TEL2109 Switch arm slide switch roller arm 

 

TEL2110 Switch head  



 
Tel: 0121 326 9035 – option 1 

 

TEL2111 Switch arm  

 

TEL2112 Switch arm   

 

TEL2113 Stop knob  

 

TEL2116   Hirschmann plug 

 

TEL2117   Push button (green)   

 

TEL2123   12mm Pipe clamp 



 
Tel: 0121 326 9035 – option 1 

 

TEL2126   Blade proximity switch assembly 

 

TEL2127   Box 

 

TEL2137   8-Hole box only  

 

TEL2139   Square Hirschmann plug LED 

 

TEL2140   Blank plug for P/B boxes 

 

TEL2143   Steel washer Mafalec contacts 



 
Tel: 0121 326 9035 – option 1 

 

TEL2144   Prox loom 90 deg LED 5metre 

 

TEL2149   Misc stop knob plastic 60mm with nut  

 

TEL2150   Coil s/link secondary valve 

 

TEL2153   N/O Contact old type (with screw) 

 

TEL2154   N/C Contact with old type (with screw) 

 

TEL2154 
/1 

Fixing plate for button & contact (early) 



 
Tel: 0121 326 9035 – option 1 

 

TEL2161 
/4 

Stop button only fits TEL 2161/3 and TEL2189/1 

 

TEL2162 Rubber boot (black) push button 

 

TEL2163 Rubber boot (green) push button 

 

TEL2164 Rubber boot (red) push button 

 

TEL2166   N/O contact (screws to body) XENL, MISC 

 

TEL2167   N/C Contact (screws to body) XENL, MISC 



 
Tel: 0121 326 9035 – option 1 

 

TEL2174 Change over relay 24V 5-10AMPS MISC 

 

TEL2180 LED Hersh plug pneu 

 

TEL2182   Rotary switch head dell tail lift hoist box 

 

TEL2183   Contact stay put dell tail lift hoist box 

 

TEL2184   Push button (black) dell tail lift hoist box 

 

TEL2185   Push button (white head) dell tail lift hoist box 



 
Tel: 0121 326 9035 – option 1 

 

TEL2186   Contact 1xno dell tail lift hoist box 

 

TEL2187   Contact 1no x 1nc dell tail lift hoist box 

 

TEL2189   Dell tail lift button box complete 

 

TEL2189/1 Remote bin assembly with stop button 

 

TEL2189/2 
Remote bin assembly with stop knob wired 
1xnc1xno for buzzer 

 

TEL2189/3 Stop button only fits TEL2189/1 



 
Tel: 0121 326 9035 – option 1 

 

TEL2191 Metal box 2-hole MISC 

 

TEL2201 E-stop button (red) 40mm 

 

TEL2207 
Dennis loom prox switch 2 metres 
(631360) 

 

TEL2208 
Dennis loom prox switch 5metres 
(631361) 

 

TEL2209   Bernstein proxy switch (special) 

 

TEL2210   Alison Cranes parker coil (special) R  



 
Tel: 0121 326 9035 – option 1 

 

TEL2210/12   Alison Cranes parker coil 12v (special) R  

 

TEL2213   Alison Cranes Bernstein sensor (short)  

 

TEL2214   Alison Cranes Bernstein sensor  

 

TEL2218 Stop switch 

 

TEL2218 
/1   

Contact n/c (fits TEL2218) 

 

TEL2218 
/2   

Contact n/o (fits TEL2218) 



 
Tel: 0121 326 9035 – option 1 

 

TEL2225 Plug only no LED 4-pin amp type 

 

TEL2230 Elbow connector (female) Ireland 

 

TEL2230 
/1 

Elbow connector (male) Ireland 

 

TEL2231 Straight connector (female) Ireland 

 

TEL2231 
/1 

Straight connector (male) Ireland 

 

TEL2232 Key switch head various 



 
Tel: 0121 326 9035 – option 1 

 

TEL2233 Keyed e-stop knob comes with contacts various 

 

TEL2233 
/1 

Spare key ronis various misc 

 

TEL2235 Stop button 60mm turn release early 

 

TEL2235 
/1 

Box only yellow/black for stop button early 
misc 

 

TEL2236 Proxy Switch Roma Quip Recycler 18m 

 

TEL2237 Proxy switch 30mm roma quip recycler 



 
Tel: 0121 326 9035 – option 1 

 

TEL2240 Keyed stop button 40mm 

 

TEL2241 
/1 

Loom m/f straight 3 metres 

 

TEL2244 Proxy switch hiab crane jack leg lock 

 

TEL2247 
Otto switch assembly 4-pos bin restraint PDM 
(172137) 

 

TEL2248 
Push button (booted yellow) comes with plate 
Misc 

 

TEL2249 
Push button (booted green) comes with plate 
Misc 



 
Tel: 0121 326 9035 – option 1 

 

TEL2250 
Push button (booted blue) comes with plate 
Misc 

 

TEL2251 
Push button (booted red) comes with plate 
Misc 

 

TEL2252 
Push button (booted black) comes with plate 
Misc 

 

TEL2255 Misc knob 3-position fixed  

 

TEL2256 Rubber boot (blue) push button 

 

TEL2257 Rubber boot (yellow) push button 



 
Tel: 0121 326 9035 – option 1 

 

TEL2258 Keyed stop button comes with plate 40mm 

 

TEL2259   4-Way splitter box none LED 

 

TEL2261 Tail lift hoist box 2-button various 

 

TEL2264 
Stop button 40mm comes with plate twist 
release (early) 

 

TEL2271 Stay twist knob old type telemec  

 

TEL2271/1 Twist knob 3 position various 



 
Tel: 0121 326 9035 – option 1 

 

TEL2272   Return twist knob old type telemec 

 

TEL2279   2-Hole p/b box only 

 

TEL2286 Dennis Eagle coil 24v 22w  

 

TEL2291 Match box proxy for Maclift roll on/roll off arm 

 

TEL2295 Pto switch with handbrake lock Maclift Misc 

 

TEL2297 
Contact with led light green Farid mini pack 
control 



 
Tel: 0121 326 9035 – option 1 

 

TEL2298 Push button (blue) 

 

TEL2335 Geesink finger guard push button Various 

 

TEL2341 Straight lead LED 5mtr Misc 

Mechanical  

 

TEM1001 
/1   

Grease adaptor cone 

 

TEM1047 Slide block comes with wear pads Ros Roca 

 

TEM1047
/1 

Top & bottom wear pad for TEM1047  



 
Tel: 0121 326 9035 – option 1 

 

TEM1047
/2 

Side wear pad for TEM1047  

 

TEM1047
/3   

Metal slide block only no pads 

 

TEM1048 Anti luce fastener M12  

 

TEM1050 Nyloc nut M24 

 

TEM1051 Flat washer M24 

 

TEM1061 'O' ring blade pin large (54) 



 
Tel: 0121 326 9035 – option 1 

 

TEM1062 'O' ring blade pin small (5O) 

 

TEM1063 Multi-lift net 

 

TEM1080   Ratchet turnbuckle 

 

TEM1184   Ros Roca blade/slide pivot pin 

 

TEM1184
/1   

Circlip for Ros Roca black & side pins 

 

TEM1184
/2   

Ros Roca blade pin dust shield (spacer) 



 
Tel: 0121 326 9035 – option 1 

 

TEM1184
/3   

Bolt for Ros Roca blade pin retaining 

 

TEM1184
/4   

Bush Ros Roca packer blade 

 

TEM1184
/5   

Ros Roca blade ram rod eye pin (long) 

 

TEM1184
/6   

Ros Roca slide (2) & blade base end cylinder pin 

 

TEM1184
/7   

Grease retaining seal for pin (TEM1184) 

 

TEM1184 
/8 

Boss for Ros Roca blade repair only 



 
Tel: 0121 326 9035 – option 1 

 

TEM1184
/9 

Ross Roca greaser bolt for main pivo blade pin 

 

TEM1221   Ross Roca slide block oblong ejector panel 

 

TEM1224   
Heil F.E.L rear arm half shell  
(003-4013) 

 

TEM1227   Skip chain hook various 

 

TEM1227
/1   

Keeper kit for TEM1227 

 

TEM1227
/2   

Spring & roll pins (2) for TEM1227/1 
(See also TEX5017 for roll pins only) 



 
Tel: 0121 326 9035 – option 1 

 

TEM1235   
Flag p/link slide proxy switch 
(211-8222) 

 

TEM1243   Chain hook various skip loader 

 

TEM1243
/1   

Trigger kit for TEM1243 hook 

 

TEM1244   Chain connector various skip loader 

 

TEM1281 
Geesink weld on hook fits on Vulture with skip 
arms 

 

TEM1328   Mtg bracket assembly for step TEM1330 Ireland 



 
Tel: 0121 326 9035 – option 1 

 

TEM1329   Adj slotted bracket for step TEM1330 Ireland 

 

TEM1329
/1   

Fork end to go with TEM1329 

 

TEM1330   Step assembly (pair) Ireland 

 

TEM1330
/1   

Complete electrical fixing kit (TEM1330) Ireland 

 

TEM1330
/2    

Step plate only from kit TEM1330 

 

TEM1330
/3   

Pivot pin for step plate TEM1330/2 



 
Tel: 0121 326 9035 – option 1 

 

TEM1330
/4 

Steel strip to hold rubber on step TEM1330/2 

 

TEM1330
/5 

Rubber buffer strip around step TEM1330/2 

 

TEM1342 Hand skip tarp’s green (10ft 6inx26ft) 

 

TEM1343 Compactor cover tarp green (6ftx5ft) 

 

TEM1346 
Otto beacon mounting bracket 
(122962)  

 

TEM1384 
Bearing kit Ratcliff tail lift 
(E. Dunbarton) 



 
Tel: 0121 326 9035 – option 1 

 

TEM1384
/1   

Bearing for TEM1384 (plain) 

 

TEM1384
/2   

Bearing for TEM1384  
(Load roller type) 

 

TEM1463   
Farid slide block T1H  
(03907004168) 

 

TEM1464   
Farid slide block T1H 
(03907004438) 

 

TEM1465   

 
Farid end cap T1H  
(03907004705) 
 

 

TEM1473 
Wear pad Telehoist skip extend arm upper 
(22/41024) 



 
Tel: 0121 326 9035 – option 1 

 

TEM1473
/1 

Shim to Go with TEM1473 

 

TEM1473
/2   

Screw to go with TEM1473 

 

TEM1474 Shim Telehoist skip bottom arm 

 

TEM1474
/1   

Bolt special to go with TEM1474 

 

TEM1496   
Clamp roller NTM  
(71851600) 

 

TEM1497   
Pin for clamp roller NTM 
(71851650) 
 



 
Tel: 0121 326 9035 – option 1 

 

TEM1588 
Ramp fastener kit T/berg Top loader/Skip 
Container misc 

 

TEM1723 
Telehoist stabilizer roller wheel (replaces nylon); 
Skip loader 

 

TEM1723
/1 

Telehoist bush fitted to TEM1723 steel wheel  

 

TEM1723
/2 

Telehoist wear pad 265x60mm slider leg skip 

 

TEM1735 
Spring Roller Assy Multilift 
(603644/1) 

 

TEM1824 Misc Otto double pipe clamp M14 110236 



 
Tel: 0121 326 9035 – option 1 

 

TEM1916
/1 

Washer goes with TEM1916 
(76966000) 

 

TEM1962 Extending pole for rear reversing camera various 

 

TEM6081 Decal 500kg max weight 

 

TEM6087 
Roof cover fastener 
(750090500) 

 

TEM6087
/1 

Roof cover hook bracket goes with TEM6087 
(75009100) 

 

TEM7090 
Skip hinge (large) 
 
250mm long 



 
Tel: 0121 326 9035 – option 1 

 

TEM7092
/1 

Strap hinge (160 x 40 x 6 approx) 

 

TEM7092
/2 

Hinge (Gudgeon) Pin (95 x 25 x 25 approx) 

 

Springs 

 

TES4011   
Spring blade pin pad 
(T154764) 

 

TES4012   
Spring wear pas blade shield 
(T15119) 

 

TES4013   Geesink 1st Striker spring GPM3 



 
Tel: 0121 326 9035 – option 1 

 

TES4016   Spring for T-bar skip lift lug (yellow) 

 

TES4016/
1   

Roll pin for T-bar skip lift lug (yellow) 

 

TES4018   
Geesink spring clamp bar RL300  
(14670) 

 

TES4034   
 
Spring for kit TEM1227/2 
 

Valves  
 

TEV3001 
Air solenoid valve single bank 
(T1022/2) Misc 

 

TEV3001/
1 

Coil 24v for TEV3001 (T1024/1) Misc 



 
Tel: 0121 326 9035 – option 1 

 

TEV3005/
2   

Hirschmann plug oblong no led misc 

 

TEV3044/
1 

1/4 BSPT Blanking plug, allen key 

 

TEV3052 
1/8 BSP x 4mm push-in 90-degree swivel elbow 
Misc 

 

TEV3053 6mm x 4mm push-in stem reducer misc 

 

TEV3054 8mm x 6mm push-in reducer misc 



 
Tel: 0121 326 9035 – option 1 

 

Fixings and Fastenings 

 

TEX5001 TEX5001 M16 Nyloc nut 

 

TEX5002  M16 Flat washer 

 

TEX5004 M16 Half nut 

 

TEX5005 M12 Nyloc 

 

TEX5007 M12 THIN NUT (Otto) 



 
Tel: 0121 326 9035 – option 1 

 

TEX5008 M12 Flat 

 

TEX5009 8mm Bungee rope black 100M roll 

 

TEX5010 M12 Spring washer ZP 

 

TEX5013   1/4" BSF Grease nipple straight 

 

TEX5014  M16 Spring washer BZP 

 

TEX5015 

 
 
Geesink M8 thin nut Misc 
 
 



 
Tel: 0121 326 9035 – option 1 

 

TEX5017 
 
Roll pins (2) for TEM1227/2 
 

 

TEX5018 1/8 BSP Straight grease nipple 

 

TEX5019 Grub screw (M8 x 10) 

 

TEX5020 M6 Grease nipple straight 

 

TEX5022 M20 Fine thread half nut (fits TEM1201/2) 

 

TEX5026 Screw for TEM1145/1 



 
Tel: 0121 326 9035 – option 1 

 

TEX5027   M6 x 10 SKT grub screw 

 

Specials 
 

TEZ9001   
Spinner disc complete 
(T/star TCD309) 

 

TEZ9002   5 Hole box (Harlow truck) 

 

TEZ9008   Heil Terberg Load dump Modul P. L 

 

TEZ9010 
Air cylinder 61M2P 
(Biffa, Nottingham) 



 
Tel: 0121 326 9035 – option 1 

 

TEZ9011 Elec plastic gland nut M16 various 

 

TEZ9012 Elec plastic gland nut M20 various 

 

TEZ9013 Light guard Veolia Northampton 

 

TEZ9019 Tread plate ratcliff passenger tail lift 

 

TEZ9020 Side panel right hand Ratcliff passenger tail lift 

 

TEZ9021 Side panel left hand Ratcliff passenger tail lift 



 
Tel: 0121 326 9035 – option 1 

 

TEZ9023 JVC bucket pin 

 

TEZ9024   PENDANT; (3fct, UP/DOWN, ENABLE) 

 

TEZ9025   
Heil proxy switch anolog fel fork xtube & top 
door 

 

TEZ9029   Heil Isonic air valve fel for manifold behind cab 

 

TEZ9030 Inter connector to make up proxy lead 

 

TEZ9033   Misc loo roll filter 

 


